
B10-H:  36

A

B

C

D

E

F

G

H

I

J

K

L

M

IN
DEX

A

B

C

D

E

F

G

H

I

J

K

L

M

IN
DEX www.alliedmachine.com   |   +44 (0) 1384 400 900   |   enquiries.eu@alliedmachine.com 

   BORING   |   Inserts

Insert Accessories
Countersunk Screws   |   Torque Drivers

Technical Data

Insert Form Countersunk Screw Clamping Jaw Torque Driver Service Key Torque Key Size
04 415977 M4 x 0.7 x 7.9 - 415510 115664 3.0 Nm T15
05 415949 M4 x 0.7 x 11 - 415543 215150 5.0 Nm T20
20 115535 M2 x 0.4 x 5 - 415508 115591 0.9 Nm T7
39 115673 M3.5 x 0.6 x 9 - 414510 115664 3.0 Nm T15
47 315324 M1.8 x 0.35 x 4 315323 - 115537 0.5 Nm T6
89 115676 M2.5 x 0.45 x 5 - 415514 115590 1.2 Nm T8
90 115531 M3 x 0.5 x 7.5 - 415514 115590 1.2 Nm T8
91 115802 M3 x 0.5 x 12 - 415514 115590 1.2 Nm T8

101 115676 M2.5 x 0.45 x 5 - 415514 115590 1.2 Nm T8
103 115672 (<Ø37 mm) M3.5 x 0.6 x 7.5 - 415510 115664 3.0 Nm T15
103 115673 (>Ø36 mm) M3.5 x 0.6 x 9 - 415510 115664 3.0 Nm T15
104 215149 M4.5 x 0.75 x 11.5 - 415543 215150 5.0 Nm T20
105 215149 M4.5 x 0.75 x 11.5 - 415543 215150 5.0 Nm T20
111 115531 M3 x 0.5 x 7.5 - 415514 115590 1.2 Nm T8
112 115672 (<Ø37 mm) M3.5 x 0.6 x 7.5 - 415510 115664 3.0 Nm T15
112 115673 (>Ø36 mm) M3.5 x 0.6 x 9 - 415510 115664 3.0 Nm T15
113 215149 M4.5 x 0.75 x 11.5 - 415543 215150 5.0 Nm T20
114 215149 M4.5 x 0.75 x 11.5 - 415543 215150 5.0 Nm T20
161 115676 M2.5 x 0.45 x 5 - 415514 115590 1.2 Nm T8
163 115673 M3.5 x 0.6 x 9 - 415510 115664 3.0 Nm T15
211 215377 M2 x 0.4 x 4 - 415507 115537 0.6 Nm T6
262 215987 M2.5 x 0.45 x 6 - 415514 115590 1.2 Nm T8
264 115673 M3.5 x 0.6 x 9 - 415510 115664 3.0 Nm T15
304 215392 M5 x 0.8 x 12.9 - 415543 215150 5.0 Nm T20
325 315321 M1.6 x 0.35 x 3 315320 - 315322 0.3 Nm 0.5x3
394 215915 M2.5 x 0.45 x 7 - 415514 115590 1.1 Nm T8
395 215985 M3 x 0.5 x 7.5 - 415514 115590 1.2 Nm T8
396 415320 M3.5 x 0.6 x 11 - 415510 115664 3.0 Nm T15
397 215149 M4.5 x 0.75 x 11.5 - 415543 215150 5.0 Nm T20

SW

mailto:enquiries.eu@alliedmachine.com
tel:+44%20(0)%201384%20400%20900
https://www.alliedmachine.com/


www.alliedmachine.com   |   +44 (0) 1384 400 900   |   enquiries.eu@alliedmachine.com 

A

B

C

D

E

F

G

H

I

J

K

L

M

IN
DEX

A

B

C

D

E

F

G

H

I

J

K

L

M

IN
DEX B10-H:  37

   BORING   |   Inserts

Insert Accessories
Countersunk Screws   |   Torque Drivers

SW

1
2 3 4

Insert 
Form

1. 
Clamping Set

2. 
Mounting Arbor for Sleeve

3.
Clamping Bolt

4.
Service Key

Part No. Key Size Part No. Part No. Key Size Part No. Key Size
75 315004 s3 415642 - - 415578 s3

123 315003 s3 415642 115775 s2.5 415578 s3
115575 s2.5

124 315054 s3 415644 115776 s3 415578 s3
115630 s3

mailto:enquiries.eu@alliedmachine.com
tel:+44%20(0)%201384%20400%20900
https://www.alliedmachine.com/

